¥\ Vestfrost

Reservdelslista Modell FKG 371-71

Spare parts list Model FKG 371-71

0-S37107155010397  List No. 002033 Version C- March 2001 A



380 %_f_g??
# 76 481

0-5371

Version A - 22.02.01




FKG 371-71

2001-06-11

Page 3.1

Pos:

(23N

11
12
13
14
17
19
20
23
25
27
29
30
40
47
49
61
67
73
86
90
94
95
96
97
119
121
124
144
153
154
166
186
187
188
189
190
191
194
196
197
198
200
201
238
244
297
322
324
383
392
406
442
476
506
602
623

0-S37107155010397 List No 002033

Article No
0-7038080
0-7038257
0-52382970203
0-2038011
0-70380670303
0-20380210103
0-70380390403
0-52380410103
0-5238108
0-5438116
0-52381290203
0-4227001
0-6238149
0-2538145
0-4838090
0-A1040010103
0-5238112
0-A1040010203
0-5238025
0-6538053
0-5235002
0-2538196
0-3038005
0-5238024
0-5238133
0-2038025
0-52382870101
0-4012112
0-5238095
0-5230460103
0-2038047
0-5238226
0-A129711
0-7038254
0-5238525
0-703835401
0-A40600201
0-7038082
0-A419002
0-9538800
0-7038094
0-6938086
0-48382350203
0-A6020040203
0-5235620103
0-5238535
0-5238561
0-7038103
0-A11001801
0-52381280103
0-5238985
0-52384170101
0-52383080202
0-52388750103
0-A120001
0-6216200
0-7038761
0-A1040010303
0-2038042
0-6938166

Benadmning
GLIMLAMPA GRON
TERMOSTAT, KYL
KONTROLL PANEL
SKRUV
STROMBRYTARE
SKRUV
STROMBRYTARE, BELYSNING
VRED TERMOSTAT
TACKNING FOR ELECTRONIK ENHET
LIST TOPP PANEL NEUTRAL
TACKNING
FASTE BAKSTYCKE
KONDENSOR
MUTTER M4 DIN 562
PIVATAPP
GANGJARN HOGER
KONTAKTPLAT FOR GANGJARN
GANGJIARN VANSTER
HALLARE FOR KONDENSOR
TORKFILTER 20G
HJUL KOMPL
BRICKA FOR GANGJARN
BRICKA
UPPHANGNING
KONTAKTPLAT FOR GANGJARN
SKRUV
TACKNING VIT
BRICKA
TATNING AVFROSTNING
LAMPGLAS
SKRUV
HALLARE FORANGARE
HUVUDKABEL KOMPL
TACKNING PLUGG
LAMPGLAS
FLAKT
FLAKT
LYSROR 15W, 230V
LYSRORSARMATUR
PLEXI FOR LYSRORSARMATUR
SPOLE, OPTIMA 28/TYP D-15-302, 230V
TRADHYLLA
LAS KOMPL SVART
LAS MED NYCKEL
TACKNING FOR LAS
STOD FOR DORR
LASDETALJER
GLIMTANDARE, 4-20W
GLAS DORR KOMPL
TACKPLAT KONTROLLPANEL
GALLER, TVARSTROMSFLAKT
TACKNING FLAKT
GUMMITATNING DORR
HANDTAG KOMPL
FORANGARE
VARMESTAV
FASTE FOR FLAKT
GANGJIARN
LASRING
TRADHYLLA

Designation
GLOW LAMP - GREEN
THERMOSTAT, REFRIGERATOR
CONTROL PANEL
SCREW
SWITCH
SCREW
SWITCH FOR LIGHT
THERMOSTAT KNOB COMPLETE
COVER ELECTRONIC UNIT
STRIP FOR TOP PANEL NEUTRAL
COVERING

FITTINGS FOR PHIAL, COMPLETE, REFRIG.

CONDENSER

NUT, M4 DIN 562

PIVOT

HINGE RIGHT

CONTACT FACE FOR HINGE
HINGE LEFT

HOLDER FOR CONDENSER
FILTER DRIER 20G

CASTOR COMPLETE
COUNTER NUT FOR HINGE
WASHER

SUSPENSION

CONTACT FACE FOR HINGE
SCREW

COVERING WHITE

WASHER PLATE

DEFROST WATER SEAL
LAMP CHIMNEY

SCREW

HOLDER FOR EVAPORATOR
MAINS LEAD

COVER FOR MULTIPLE PLUG
LAMP CHIMNEY

FAN

FAN

FLUORESCENT TUBE, 15W,230V
LIGHT FIXTURE

STRIP FOR LAMP GLASS, NEUTRAL
COIL, OPTIMA 28/TYPE D15-302, 230V
WIRE SHELF

LOCK COMPLETE - BLACK
LOCK WITH KEY

COVERING FOR LOCK
SUPPORT FOR DOOR

LOCK FITTINGS

GLOW SWITCH, 4-20W
DOOR COMPLETE GLASS
COVER PLATE FOR CONTROL PANEL
GRATE

COVER FOR FAN

DOOR RUBBER FILLET
HAND LEVER COMPLETE
EVAPORATOR

HEAT TUBING - FR

BEARING FOR FAN, PLASET
HINGE

LOCKING RING

WIRE SHELF

Version C- March 2001

WD: 1006002



FKG 371-71

715 0-2038053 SKRUV
718 0-7038407 HALLARE LYSROR
723  0-2038019 SKRUV 4 x 12 MM
869 Article No Benamning
890 0-5238956 STALLBAR FOT
981 0-5238960 KONTAKTPLAT FOR GANGJARN V+H
982 0-5239046 HALLARE FOR HYLLA
983 0-5239047 TACKNING
986 0-2038210 SKRUV
997 0-A1040040203 SOCKELLIST
998 0-7038406 HALLARE LYSROR KOMPL
1022 0-4238137 KLAMMER
0-5238496 TATNING AVFROSTNING

0-S37107155010397 List No 002033

2001-06-11

SCREW
SOCKET FLUORESCENT TUBE
SCREW 4 x 12 MM

Designation
ADJUSTABLE FOOT
CONTACT FACE FOR HINGE LEFT + RIGHT
FITTINGS FOR SHELF
COVERING
SCREW
BOTTOM PANEL, SKIRTING BOARD
SOCKET FLUORESCENT TUBE COMPLETE
STAPLE
DEFROST WATER SEAL

Version C- March 2001

Page 3.1

WD: 1006002



Paoge 4

WE—gn

ya-gn

En

g

1 1
W \,.fwi [ R PR P I P P

bn

B [
PV
aean i
b =
Y=g b 1 HEF=gKl
®
= by
Mo - Forvekode Colaur Code Farbendefinition
1| bn Brun Brown Brawn
249 ko Ela Blue Blau
3§ bk Sort Black Schwartz
4.0 i Lilla Lilac Lila
5| ye—gn| Gul/Gren Yellow green Gelb/griin
&1 wh il Wihit= Weiss
71 rd Fad Red Rat

f
1

10.06.002 - B




General information. PO s
Allgemeine Information. :
Information générale,

Informacién general.

Algemeene informatie.

Generel information.

Infarmation regarding compressors and accessories - see compressor components, QCS5.07.14.-5.-2.-001.
Informationen beziiglich Kompressoren und Zubehér - siche Compressor Components, QC5.07.14.-5.-2.-00
informations concernant compresseurs ef accessoires - voyez compressor components, QC5.07.14.-5..2.-00
Informaciones sobre compresores y accesorios - vénse compressor components, GC5.07.14.-5.-2..001
Informatie befreffende komprassoren en toebehoren -. Zien compressor components, QC5.07.14.-5.-2.401.
Informationer vedrerende kompressorer og tilbeher - se compressor components, QC5.07.14.-5.-2.-001.

Kompressor type,

— Kolemiddel, Compressor fype.
Refrigerant. Kompressortyp.
Kahemittel, - - Type de compresseur.
Réfrigérant., Tipo de comprasor,
Refrigerante. Comprassor fype.
Koealmiddeal..

M.B. : Atoll inguiries fo Vestirost about the unit the product number on the serial number must be stated. A
MBI : Beicllen Anfrogen bei Vestirost wegen der Einheit sollen die Frodukinummer und die Seriennummer {

angegsben werden, . .
N.B. : A loute démarche ouprés de la 51& Vestirost condemant des unités le numéro de produit et le ruméro

de série doivent &re indiqués. j
iMotel: En caso da consultas o Vestirost sebre 2l aparate hay que indicar el ndmero del producto y el nimero de serie.
N.B.I : Bij allen contacten met Vestirost betr. eenheden moeten producinr, + serienr. worden vermeld.

Ohsl - Ved al henvendelse vedr. enheder til Vestfrost, oplyses produkine og serienr.

Serie nr.
N Serigl Mumber.

: : s ] Seriennummer.
TYp.esklh R, Muméro de série.
Rating plate NG e
Tobarackitd dmero de serie,

YP2 : - Serienr.

Plague signalétique

Place de datos - - 7 — Predukt Nr.

Typeplaatje Product number,
Produktnummer.

4 Muméro de produit,

Mamero del producto.
Productnr.

e ?L =

Erbaaco. - ATHATTHAAT mde Ll a



